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[Roll Number

Candidate
Name

Venue Name

Exam Date 27/10/2020
Exam Time  [3:00 PM - 5:00 PM
Subject Junior Engineer 2019 Mechanical

Section : General Intelligence and Reasoning

Q.1 If ‘LIFE’ is coded as *7421" and ‘SKIN" is coded as ‘6345 then how will ‘KIN” be coded as?
Ans x 1. 215

< 2. 356

X 3. 725

v 4 345

Question ID : 8161614026
Status : Answered
Chosen Option : 4

Q.2 g Frar Fagar st 3k 1 e e ) Fu=t Fr w6 Ay T A F e w9 W A ae
T T vEE ae E, o vl & F Rrar Gt A g wle o et suet @ s v e
HTHOT FA 7

Fua
s 3o AT §
o T A FE £
[ELCaE
I @ @, @
1. w3l AR S £

e K e | AR 11 gt sregERer aa
Vo arfassy | 3k T & Ty Il e war g
X o Faer sy || 3gERor X B
X+ et TR | HeETOT T B

Question ID : 8161614028
Status : Answered
Chosen Option : 2
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12

Q3 zfr 1 @ 150 g& H FEad fod s &, o g 6 fahae s o st
Ans X 1.30

v 2 25

< 340

X 4 35

Question ID : 8161614047
Status : Not Answered
Chosen Option : --

U4 v & g B S R Rt g S ¥

‘L T I Bl & 999d el 9T diaa ®Ea 99 F1

Ans x1_ @
<2 9%
v #
x4 &

Question ID : 8161614048
Status : Answered
Chosen Option : 3

Q5 3@ fawew F1 9O FT Srwe WY FEw § T8 T § S dd @l dE S ager §'w ¥
16 : 144 :: 28 :

Ans X 1. 364
V2 420
< 3. 254
< 4. 544

Question ID : 8161614039
Status : Answered
Chosen Option : 4
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Q.6 Ma:rmmﬁsﬁreﬁr:;ﬂ:raﬁaE§mmmﬁmm:ﬁtsa&m%qﬁ
mﬁfsaﬁﬁimﬁmeaﬁﬁlmiﬁrm"aﬁrenﬁ%amﬁgjm

e X131 ¢
V2 22 a¥
X3 25 a§
X421 af

Question ID : 8161614046
Status : Answered
Chosen Option : 2

Q7 fywedt # ¥ #a @ 3R AR TEw TR g # wAtres (2) & sfarwfE st
128 W05 T, 48 0. 121,92 K

Ans XK 1N, 225
X2 M, 225
X3 M, 169
v+ N, 169

Question ID : 8161614007
Status : Answered
Chosen Option : 4

Q.8 Recdl # W 3H F7A FT 9947 H{ [o0F AT WA F AT TE FAY § AT AT 77 w-geA F
sfeEt & TeT B

et :

Ans 1. 3TTEEATeIST : It

X 2 HTSEIEFATeST : e

X 3 AT AT
(4.3@@\?—[‘!?»]%\’1’ - gfaTetor a9

Question ID : 8161614020
Status : Answered
Chosen Option : 4
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Q.9 G Fesmar & 'RAINBOW' # ‘UEOQEUZ' 3R ‘TRACTOR' & 'WUEFWUU' ¥ & # forar e g1
38T FesTr & 'COMPUTER' &t &% forar smeem?

Ans X 1. FUPSEWIU
X 2 FUPSAWIV
v 2 FUPSAWIU
2 4 EUPSAWIU

Question ID : 8161614025
Status : Answered
Chosen Option : 3

Q10 Rawid @ smaH Ta7 FY oS o wRl F AT 3@ e § SART T 5 aE-H ¥

et & mew )
gm:tha
Ans o1 e ST
X 2 gr3E : ATEE
X 5 TIAT : GES
X 4 9Er : FHEAT
Question ID : 8161614018
Status : Answered
Chosen Option : 1
QM Zr Fu=t F &g 9w ==y |, I, I3 IV e e #1 Fuar F7 T AT g, o9 & F oA w79
¥ 7 Tt ¥ e wha @9 &, o7 folT & @ RT ae et F @ S @ et =t #
ATFF T & HE0T F &2
' CH

o I oI TEE TG

o Tl g A2
e

I 8 ofr g =@ §

Il #1397 o 7 B

. Fo 7 w=wtear £

V. J=ff 9% Tafear €

MK s | AR IV et e =
X 2 Faer Y | HTEROT FIT B
X s sy | 3 Il et srgERr e £
¢ Faer s Il 3ETEROT T B

Question ID : 8161614029
Status : Answered
Chosen Option : 4
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Q12 eify, wforar & 38 ¥ wfrw Srar A § FOR, A HrAT Y FED w7 ofy, kT F R,
T fr T\ g = ke & F w2

s X ardvanfae
Xz.qaﬁ'
v 5 oy
X 4. AT/ oA T g

Question ID : 8161614033
Status : Answered
Chosen Option : 3

QA3 w7 fwey F 9w F FUF AW WEN-TAE T IE T § N TEY WY T-TAE F TR HET-TAE
TR

RHOMBUS : OHRQSUB :: TAGLINE :?

Ans 1. FATPENI
X 2 GBTPENI
X s FBTPENI
v« GATPENI

Question ID : 8161614023
Status : Answered
Chosen Option : 4

U Rrafafee saed & 98 3R 5uF o R T g F Seaw &
e K+Mammad g s 'K M& g g
e K-MFm 3 ¥F K Marafd &
s KxMFTHTEFT'K MFrams g
e T xV+ 23§ o B &3 37 ar BFeg @& 2

X1 T, Z & =gl
X2T, Z F1 65 gl
XoT zZ& fRar d
V4T, ZH T8

Ans

Question ID : 8161614032
Status : Answered
Chosen Option : 4
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Q15 A g HBTasgdRC IYADITTHD, TG HFAT T E IR, 3y FC T orr &
38, 3 A & IR FA H Sreyd H

Ans 1. A>D>C>B
X2A>C>D>B
X:B>Ab>C»D
X+B>C>A>D

Question ID : 8161614035
Status : Answered
Chosen Option : 1

Q.16 & a7§ spmen = O A F B Rwedt # ¥ A @ sew-wEg wafEd (2) 7 sfaeaiE wEm
KIND, OOLI, SUJP, WAHV, ?

Ans X 1. DDFB
X 2. BEFB
X 3. ADFB
v+ AGFB

Question ID : 8161614010
Status : Answered
Chosen Option : 4

Q17 & Rw v 3w #, P TRl MEEHE qHe FT ST A6 B ST §, od e AEHAH
g e e e @ gefar ¥ A e aiede FEEET qHe S aTe e @ geiar §

[22/17{15\ 30 ) 40 |

7520

foraer @T TRl v el ST BRI THE Y & fhg Fiede WEEHA THS A8 N 8
Ans X120

X210

Vs 7

X415

Question ID : 8161614055
Status : Answered
Chosen Option : 3
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Q18 =g 3m 3@ & T F{ N PEATART I F & T FF Faleaw & F g B
AEGFR, Fioawar, Afgart

Ans

1

X 2

009

Question ID : 8161614054

Status : Answered

Chosen Option : 1

Q19 gelect the option that is related to the fourth number in the same way as the first
number is related to the second number.
24237 w4
Ans  of 1. 611
X2 2128
X 31284
X 4. 2387

Question ID : 8161614040

Status : Answered

Chosen Option : 3
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Q.20 3g fameT = =9F F oG ST He-UEE ¥ I8 TAY § S UEY gUY HEUOAF F e HETOEE
TR
RADIUS : SUIDAR :: CIRCLE : ?

Ans X 1. ELRCIC
v 2 ELCRIC
X 3 ELCIRC
X 4 ECLRIC

Question ID : 8161614022
Status : Answered
Chosen Option : 2

Q.21 select the correct combination of mathematical signs to replace the * signs and to balance the given equation.
52%4*5%8%2=36

Ans  F 1 — X, +, +
Ko+, = — X
N3+ X —
F R T

Question ID : 8161614045
Status : Answered
Chosen Option : 1
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Q22 37 e & =9 & owF & 7F 3B () 3EERT ¥ (gES F Al TE )1

Ans

r

X

v &)

53

Question ID : 8161614049
Status : Answered
Chosen Option : 2

Q.23 Zdor Fr BT AT g F g AT @ T W), Beeat F @ B aw omeg F o ofafEw = amw w74

Ans

STATIONARYPOINT

< TUIOTY IAMOTIAT?

Y2 TUIOTY IAVIOITAT2
<3 2LVLIONVE AbOIML

X4 2LVILOMVE ABOIML

Question ID : 8161614052
Status : Answered
Chosen Option : 2
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Q.24 Select the number that can replace the question mark (?) in the following series.

46,22, 10,4, 1,2
Ans X1 0.5

Question ID : 8161614036
Status : Answered
Chosen Option : 2

Q25 37 fawey & 909 FY S AR o F vF AIfFF vF IO FH F TEfvg =T B
1. efer

2.3
3. ggwfy

4, %07
5. 3zwuT

Ans %13 1 4,
X2 3 2 4,
<33 2 1,
v+ 3, 1,5,

B o1,
N L

Question ID : 8161614013
Status : Answered
Chosen Option : 4

Q.26 Which option represents the correct order of the given words as they would appear in an English dictionary?
1. parabola
2. parricide
3. paprika
4. paragon
5. paraffin
Ans
v13,1,54,2
23,2415
™ 3. 301:2.5:4

X 43,155 2.4

Question ID : 8161614012
Status : Answered
Chosen Option : 1
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Q.27 Which letter cluster from the options will replace the question mark (?) to complete the given series?

CDE, ECL, GBM, IAQ, ?
Ans X' 1 17V
X 2 17U
X3 KZV
v 4 KZU

Question ID : 8161614008
Status : Answered
Chosen Option : 2

Q.28 1In a code language. 'FATR' is written as ‘HDMW’. How will 'CARE' be written as in that language?

Ans X 1. FDVJ
X 2 FCVI
v 3 EDVJ
X 4 ECVI

Question ID : 8161614024
Status : Answered
Chosen Option : 3

Q.29 Select the number-pair in which the two numbers are related in the same way as the two numbers of the following

number-pair.
5.641

Ans X' 1. 7:368
X 2 9:1067
V3 3:85
K4 12:835

Question ID : 8161614041
Status : Not Answered
Chosen Option : --

Q.30 Which option represents the correct order of the given words as they would appear in an English dictionary?
1. inertia

2. indulgent

3. inelegant

4. infant

5. inexact

Ans 212 1,3.4.5

v2 23,154

X3 2,1,3,54

X4 2,3,1,4,5

Question ID : 8161614011
Status : Answered
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QN BHr www AR T W WS A Y, A F A A AR
Ans  of 1 37T

X 2 gl

3 FaETer

X 4 TwEr HHS

Question ID : 8161614017
Status : Answered
Chosen Option : 1

Q.32 Which letter from the options will replace the question mark (?) in the following series?
PINRLUPIL?
Ans X 1. M
K21
v N
X4 K

Question ID : 8161614006
Status : Answered
Chosen Option : 3

Q.33 Select the set in which the numbers are related in the same way as the numbers of the following set.
(15,62, 120)
Ans X 1. (9, 20, 86)
v 2 (18,74, 144)
X 3. (6, 26, 38)
X4 (12,28, 110)

Question ID : 8161614042
Status : Answered
Chosen Option : 2

Q.34 If'LIGHT is coded as '39782' and 'FILM is coded as '6934' then how will 'ORDER' be coded as?
Ans (1. 70654

X 2. 70645

v 5 69459

X 4. 69456

Question ID : 8161614027
Status : Answered
Chosen Option : 3
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Q35 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans

sune,
=

------------

Question ID : 8161614053

Status : Answered

Chosen Option : 1

Q.36 Fgarer 12 km Tt & a1g &8 HW A AT 4 km H g FT | 3TF € IF AT AT HI;

Ans

HT 20 km Fr fr 7 ) 3T F 77 3 F HT TA W W T F fRw er F o
T FET fr o

<1 ofas
«Z-Eﬂ:ﬂ'ﬂT
< 3 FeaR
X o o

Question ID : 8161614031

Status : Answered

Chosen Option : 3
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Q.37 select the option in which the given figure (x) is embedded (Rotation is not allowed).

Ans

p

vl S

Question ID : 8161614050

Status : Answered

Chosen Option : 1

Q.38 Which letter cluster from the options will replace the question mark (?) to complete the given series?
JSE. MLG. PEI SXK. ?
Ans «’ 1. VQ M
< 2. URM
X 3 VSM
X 4 USM

Question ID : 8161614009

Status : Answered

Chosen Option : 1
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Q39 Select the option in which the given figure (x) is embedded.

2%

X

Ans

X1

X 2

3
3

Question ID : 8161614051
Status : Answered
Chosen Option : 4

Q40 = FTFAT I Y g, AT T A F "I
Ans x13_-|?‘|3-
52 q&_"ﬁ

X 3 gh
4 FET

Question ID : 8161614015
Status : Answered
Chosen Option : 4
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Q.41 g fwey # go7 F{ forwe S0 HT-UAg ¥ 38 9y § S Ty SEY Me-UAE FT T8 He-UAE
gl

ENGLISH : GMIKKRJ :: CLUSTER :?

Ans X 1. PKPQVDU
v 2 EKWRVDT
X 3 PKWQVDT
X 4 EKPQVDU

Question ID : 8161614021
Status : Answered
Chosen Option : 2

Q42 37 fweT F TO97 F T AR el # UF AMGE TF HITT FH F TSV FIT E

1. ¥ TWFR

2. 7R A

3. T T=TEE

4. =0 FFRK

5. TR qfewe
Ars X 1.3,5, 4,2, 1

<234, 1,2 5

W3 3.5 2 4 1

K4+34 5 1 2

Question ID : 8161614014
Status : Answered
Chosen Option : 3
Q43 ‘Gl F7 AwEieee T iR o & Hedeaeieee ¥ 98 ey g S Fwst &7
S - & {

Ans X1 S RRETTeEE
X 2 FHAATTIEE
v 5 TeRATETeTES
X 4 GUAATAEE

Question ID : 8161614016
Status : Not Answered
Chosen Option : --
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Q44 =g Fer F1aa FU S PEATAET 4T H ToF-RET (2) F T W 3T FHA 2
24, 30, 66, 7, 822, 4116
Ans 1. 420
< 2240
< 3402
v+ 204

Question ID : 8161614037
Status : Answered
Chosen Option : 4

Q45 g, K LM Nt oO s Reea s R s dv w S & K LF o it awr M &
FENLFEMHLINSSITFO! oo & o v & =iy e @ sl B2

Ans X4 L
V20
X3 K
X 4N

Question ID : 8161614034
Status : Answered
Chosen Option : 2

Q.46 = = 3T, o, ¥ A Ry o @9 ®@ ¥ 20T AR a9 wEier #) RAw 50w fr 6
s IR e o & 3R a3 A 3 R Rer & it st @em

Ans x1_ 3Icad
< 2 of¥Es
X gg

v 2 aﬁg-m-

Question ID : 8161614030
Status : Answered
Chosen Option : 3

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




QA7 Pmeat A A58 T7A & 994 FY WS At 0wl F Few 58 "oy ¥ F R v Aqw wegw
& ol & AT E

TR : wpfead
L R CEICE I T
X 2. HAUT . FAerEr
X 5 emdafEred : 3eTslr g3
X 4 TIELY : geret

Question ID : 8161614019
Status : Answered
Chosen Option : 1

Q48 =3 g FTIET FY S AR 4@ # FoF-RET (?) F TR W A7 TR 2
6, 12, 60, 222, 606, ?

ans X 11458
X 2 1969
5 1356
X 4 1768

Question ID : 8161614038
Status : Not Answered
Chosen Option : --

Q49 fro e FAEOT F WG WS F W BT & FEAt F WER ag@r F=w Aqe?
18+12X4+5—6 =53

Ans 5 aitr -
<2 x A -
K3+ 3T+
v+ - 3t x

Question ID : 8161614044
Status : Answered
Chosen Option : 4
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Q.50 Select the set in which the numbers are related in the same way as the numbers of the following set.

(9,21, 124)

Ans  of 1. (17, 37,220)
X 2. (11,64, 131)
X 3. (14,58, 112)
X 4. (5,16,220)

Question ID : 8161614043
Status : Not Answered
Chosen Option : --

Section : General Awareness

Q1 fyfafed # 4 59 =g 3, YR 31 ugar WY ¢F ure W1fud far smem?
Ans  of 1 Rd

X 2. ToRE

X 3. femmad ue

X 4. USE

Question ID : 8161614078
Status : Answered
Chosen Option : 1

Q.2 95 YNGR W e ot IR P JFRUAANSATR, IW__ deramarsl
Ans X" 1 T&H (tendon)

x 2. YT (artery)
X 3. KT (vein)
o 4. I (ligament)

Question ID : 8161614084
Status : Answered
Chosen Option : 1

Q3 frafafed § & fra e § vam arg wRiEE Ra 32
Ans X 1 TRId

W 2 IRTs

X 3. fwr

X 4. o

Question ID : 8161614088
Status : Answered
Chosen Option : 4
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Q.4 NABARD &1 Quf &1 FT 82
Ans X 1. TS dF 3T SATEIEIE TS ¥ SIAYHC (National Bank of Allahabad and Rural
Development)
x 2. WW 31 TlideeR TS ¥ Saeure (National Bureau of Agriculture and
Rural Development)
75 3. 7Y 9P 3 S TS ¥l SIAUHE (National Bank of Assam and Rural

Development)

( 4. 7T S BR TR U8 ¥ SaAUHE (National Bank for Agriculture and Rural
Development)

Question ID : 8161614089
Status : Answered
Chosen Option : 4

Q.5 UNFccc &1 quf S aT g2
Ans X" 1 JATSCS AR hSRRM 31t U HIIRIT PSR (United Nations federation of

Company Council Cooperation)

75 2. gASeS A B 3 BT S FASHE 991 (United Nations Faculty of
Convention on Climate Change)

/X 3. gA3CS A hHad 3 Heard HHITH HISTORTA (United Nations framework on

Cultural Commission Cooperation)

o 4. T3S A7 thHad H-aYH 31 FAEAT I (United Nations Framework
Convention on Climate Change)

Question ID : 8161614080
Status : Answered
Chosen Option : 4

Q.6 RS 3TH IR &Y HeR H @1 ST =9I
Ans X 1. RN Tt

25 2. e A
/X 3. urt A
o 4 T 5 @

Question ID : 8161614070
Status : Answered
Chosen Option : 4

Q7 Fufafea d @ o9 g g AR 13 & 0 GRS ¢, st wmer 1878 § #1718 A2
Ans o 1 off gemfar aER

25 2. 919 TR foere

25 3. TS XM HigH ™

X 4 e B

Question ID : 8161614095
Status : Answered
Chosen Option : 3
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Q.8 HRA P Vg TP IS 'SCO (AUTS TGANT HIT6+) & 8 Iefal” P et § 2fdrer &) 78 21
g yfaw fAafafaa 3 4 fPa oo o fRa g2

Ans me
/< 2. U e
X 3. 9|
75 4 fEr

Question ID : 8161614058
Status : Answered
Chosen Option : 1

Q.9 fewaR 2019 ¥, FrafafEa A | frw wex & fawae® (BIMSTEC) =it & e, Saaryg
JMYTRE TTE Wt yoITeht & Hafla Sardia Wt &1 smater faam ar a1?

Ans X 1 Hwd
X 2 ¥mge
W 3 Rl
< 4.3

Question ID : 8161614090
Status : Answered
Chosen Option : 3

Q.10 HgHg T4l A Ugdll IR URd IR &9 MTHHUT fHar Y12
Ans X 1. 1192 Sl

75 2.1003 St
o 31001 St
X 412

Question ID : 8161614096
Status : Answered
Chosen Option : 2

Q.11 I5d ) &Y A gX A WA aTet ARIBIS (vessels) FY T ST 31
Ans X" 1. 3 (Node)

75 2. P (Lymph)
/X 3. 1R (veins)
J 4. YT (arteries)

Question ID : 8161614082
Status : Answered
Chosen Option : 4
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Q.12 fewgar 2019 ¥ Fafafea 3 | frw 3= A fRravya 3 Sru=m ugen WwT (FIFA) 719 fay &u
TIH! Sitar?
Ans  of 1 @R
/X 2. 9ga 3R SHRIT (UAE)
X 3.7 e (UK)
X 4. g g SARET (USA)

Question ID : 8161614104
Status : Answered
Chosen Option : 1

Q.13 Which of the following vitamins is also known as Retinol?
Ans X" 1. Vitamin C

/5 2. Vitamin D
o 3. Vitamin A
/5 4. Vitamin K

Question ID : 8161614068
Status : Answered
Chosen Option : 3

Q.14 YRA ¥ UgAT 3T FA1d H g1 UT?
Ans X" 1.1953-54
/X 2.1949-50

/X 3.1948-49

o 4.1951-52

Question ID : 8161614094
Status : Answered
Chosen Option : 4

Q.15 Bﬁ\q;g(herbicide)w ? N1 IuahT sraifsa diel &) A8 1 & g fovan
Eicik]

Ans X 1w
o 2 T
X 3. 3RS
X 45T geA

Question ID : 8161614075
Status : Answered
Chosen Option : 3

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Q.16 Ty, Tg 3R Yo & T g3 VT s St gi & IR ofi¥ ot e & gaax et 3, 39

Pl ST 21
Ans X" 1. 3icRIU (Cape)

X 2T

J 3. Uﬂav_gi(comet)
/X 4,308

Question ID : 8161614085
Status : Answered
Chosen Option : 3

Q.17 Frofafad & & 5 ona o1 3TE IR ((@R®) & Fu A dard?
Ans X" 1 ffed o

o 2. 9w s
X 3. BRBING o

X 4 RIS o

Question ID : 8161614073
Status : Answered
Chosen Option : 2

Q.18 HIa 2020 °F, ToRTd T B foran fordt 82
Ans x 1.39

/X 2.28

333

X 424

Question ID : 8161614103
Status : Not Answered
Chosen Option : --

Q.19 PIL &1 quf &Y 7T §2
Ans X" 1 UfeTd SS¥T fIfS (Public Industry Limited)

J 2. Ufedteh e¥xe fAIfeaI=M (Public Interest Litigation)
75 3. Ur3ac S5 fAfS (Private Industry Limited)
/X 4. ifdfeda Sevxe fAfefi=E (Political Interest Litigation)

Question ID : 8161614102
Status : Answered
Chosen Option : 2
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Q.20 Fgfifad d A fea Tea A NfRdRT auslta srvaRvy fRyd 82
Ans X' 1 ToRTd

75 2. f@R

W 3. e/

#< 4 TRy

Question ID : 8161614091
Status : Not Answered
Chosen Option : --

Q.21 ST 2020 ¥, WY T AT (UsA) A FRafafaa & & fra 3 & R0 Affgaer
mﬁwwﬁ;‘g

Ans  of 1 <=
/X 2. fagaam

7% 3.9T% (UAE)

/X 4. SUH

Question ID : 8161614061
Status : Answered
Chosen Option : 1

Q.22 2019 ® qTCT AT BIed PR & fHd qwr=a far mar 412
Ans & 1 Sfidg

X 2. g
X 3. fecfiu uR
of 4. Sy g

Question ID : 8161614060
Status : Answered
Chosen Option : 4

Q.23 fAgfifEa & § F9 91 3 U JTasuEqH 3R 7R $ @rel gR1 fAffa aqs & vl
SOHNT & GIRT YR & 37 gidl 27

Ans X 1 TifreaH
75 2. mredla
/X 3.9
o 2 dida

Question ID : 8161614087
Status : Answered
Chosen Option : 4
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Q.24 f3¥eR 2019 ® FRES & A & w0 | fora= 9y ot A2

Ans

< 1.
/X 2. 3 TRad
/X 3. O e
o 4. B ARA

Question ID : 8161614062
Status : Answered
Chosen Option : 4

Q.25 fogffea o @ #i9, Aeged 3R Sudieged & fged ovd 82
25 1. e we & gervHt

Ans

75 2. yufa

o 3. TG ST TR TR (UT) & ISaUTe/S RS

X 4. vy

Question ID : 8161614101
Status : Answered
Chosen Option : 2

Q.26 fEfIfEd o ¥ FI9 YR F TYHT T JUIE A2

Ans

o TR
X 2. o

X 3. 3fFR
X 4.5

Question ID : 8161614093
Status : Answered
Chosen Option : 1

Q.27 g Y T (dry ice) B TH T wiran &, @) a5 W # ufvafda g wmdt 31

Ans

X153
X 2.3
W 3T
X 4. 7ot

Question ID : 8161614081
Status : Answered
Chosen Option : 3
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Q.28 XHTML T quf =7 &1 82
Ans X" 1 TqCHd GTSITR HHRI AW (External Hardware Memory Language)

x 2. TRICRId ERURCRE HAR] Aloldh (Extensive Hyper Text Memory Logic)

75 3. THICT FIRURCHRE HIGS 7l (Extension Hypertext Marked Language)

( 4. THRITT SRURCRE HIPH 3T Tiaw] (Extensible HyperText Markup Language)

Question ID : 8161614057
Status : Answered
Chosen Option : 4

Q.29 Fat 2020 A, URE A FEfIfEa fFw 331 F R War ure! & famayor 8g o &t
usD 75 fifera= T we1 fear 82

Ans X" 1. dfici@T

W 23w
/X 3. AU

X 43

Question ID : 8161614065
Status : Answered
Chosen Option : 2

Q.30 '3TFSH (Idols)’ TP & FAH/ATIDT B 82
Ans  of 1 i MawR

/X 2. adyfaig

7% 3. fawg <

/X 4. 3RF. AR™Y

Question ID : 8161614097
Status : Not Answered
Chosen Option : --

Q.31 Which of the following is the correct full form of IMF?
Ans X 1. International Money Federation

x 2. Indian Money Federation
X 3. Indian Money Forum

J 4. International Monetary Fund

Question ID : 8161614064
Status : Answered
Chosen Option : 4
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Q.32 The deficiency of which of the following vitamins causes delay in blood clotting?
Ans  of 1 Vitamin K

75 2. Vitamin D
/5 3. Vitamin C

25 4. Vitamin A

Question ID : 8161614071
Status : Answered
Chosen Option : 1

Q.33 2019 9%, HRd A fraa SiTRz=a dedarse A< IS A2
Ans x 1.5

22

X 3.6

X 48

Question ID : 8161614079
Status : Answered
Chosen Option : 2

Q.34 Who among the following is the brand ambassador of Master Card as of February
20207

Ans X" 1. PV Sindhu
o 2. Ms Dhoni
75 3. Madhuri Dixit
75 4. Sunil Shetty

Question ID : 8161614098
Status : Answered
Chosen Option : 1

Q.35 F1f¥gd a9 3R UH FAd aa | Hiee , T qHtg-3r giaT & s AR
(antimicrobial) 70T gia &

Ans X' 1 RIS o
W 2 e s
/X 3. dfdes s
X 4. TR o

Question ID : 8161614083
Status : Answered
Chosen Option : 2
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Ans

Q.36 fmferfad # § P4, 9G $1 B (zaid crop) 82

o 1 TS
X 25U
/< 3.1
/X 4. 9oRT

Question ID : 8161614086
Status : Answered
Chosen Option : 1

Ans

Q.37 BRad 2020 TP, ICTIHT & AdT B 872

/X 1. T Rig
7 2. ga e
75 3. 3iffa zme

o 4. UTREE e

Question ID : 8161614100
Status : Answered
Chosen Option : 1

Ans

/< 1. sifsarfieR
o 2 SR

/X 3. sieieR
X 4 Faeue

Q.38 fmfafaa & | frw amfe 9 &1 IughT argHsy e &t A= & forg faar wrar 82

Question ID : 8161614074
Status : Answered
Chosen Option : 2

Ans

Q.39 9, & 3R 3RaT Riary ard fa=ma W &Y FET ST &

X 1.9
/X 2. 9Rdsa
X 3.7%

of 4. s

Question ID : 8161614072
Status : Answered
Chosen Option : 4
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Q.40 YT & UYH IWIPUF S U7
Ans X" 1 S #l.3R. srESHR

75 2. 31 9 TN

o 3. S T e
75 4. IR Ued

Question ID : 8161614092
Status : Answered
Chosen Option : 3

Q.41 ) 1R fay F I U e fEars! & el ve iaw # g o9 ae €, 3 59
U A FSRE ¥

Ans X 1. sifefm
X 233
f 3. s
X 4. didat

Question ID : 8161614105
Status : Answered
Chosen Option : 3

Q42 JATFRF A T TN ARBRE@S __ Fgrwm@igl
Ans X" 1 TEd

/X 2. 3eduTTH

75 3. 9o

W & v

Question ID : 8161614076
Status : Answered
Chosen Option : 4

Q.43 fmfifaa & | frw 99 A H30 NS F gou f 3 yga@ w7 & fog, eRafRa @ &
Tgraard, MANI (MET3d TSS Hie g RWRR) Ame Megd AU i< fear 82

Ans X" 1 QA (PNB)
/X 2. wa e (SBI)
o 3. s (RBI)
75 4. 3mg S ehamg (DBI)

Question ID : 8161614066
Status : Answered
Chosen Option : 3
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Q.44 Ffafed # @ o9 WRa & gd wgufa 82

Ans

W 1. S I T
/X 2. T TG QA
75 3. 3R

/X 4. rita Tt

Question ID : 8161614099
Status : Answered
Chosen Option : 1

Q.45 ?aﬁﬁaﬁﬁmwﬁ,wﬁwﬁ%mw@ummmmw@m
?

Ans

X T

o 2. 3T
X 3. SRR
X 4. SrE

Question ID : 8161614067
Status : Answered
Chosen Option : 2

Q.46 fmfafea # | fra Tw0 WRER A 9 2020 A gfgwwr af (Year of Artificial

Ans

Intelligence) Niva far %?
X 1. 3o
o 2. dT
X 3. d9mE
< 4. sy ue™

Question ID : 8161614069
Status : Answered
Chosen Option : 4

Q.47 Sad 2020 §, YR A ¥ 1y fguehta & wgah gem & forg qwsiar o=

Ans

(MoU) R gxaTer fu 31
P BRI

W 2 s
/X 3. ¥mUH
7K 4. g T SARST (USA)

Question ID : 8161614063
Status : Answered
Chosen Option : 3
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Q.48 fmfifaa o | fry 2eR ® Uiad WRA-E1 97 e Tmie ST e g3 412
Ans X" 1 7% fach

W 2 T
/< 3. FRmER
X 4. 910

Question ID : 8161614059
Status : Answered
Chosen Option : 1

Q.49 98 faa & SAfUPd ST & fog @ Rreew A W4 (stored) IHPHRI UH & forw
T (breaks) TITET €, I/ FT ST ST g?

Ans X 1.FR
X 2. =R
W 3.2
X 4. SRR

Question ID : 8161614056
Status : Answered
Chosen Option : 3

Q.50 fAgferfEa # Q &9 91 @AW 3" F Aued (), HIRAST fHeet iR NET-TR=-1 &)
TR TTE 7@ A HEg Bl 872

Ans X 1. SMTISH
X 2. 3mRA
/X 3. fsaw
o 4 Riw (o)

Question ID : 8161614077
Status : Answered
Chosen Option : 1

Section : General Engineering Mechanical

Q1 ffirT 7o 0.8 I TH O AR @ (inlet diameter) 20 cm 3R & T (throat diameter) 10
cm e TH A0 AT F F @ Faed & W 2 Huw BeiRee #Fees 26 om #7 Seaw seie
&7 81 & i (pressure head) & 3ER A U FL TN F PR e 13.6 B

Ans 21100 cm
< 2 300 cm
v 2 400 cm
< 4200 em

Question ID : 8161614190
Status : Not Answered
Chosen Option : --
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Q.2 Which of the following devices is used for preheating the air before it is supplied to the boiler?

Ans X 1. Injector

' 2. Economiser
/< 3. Superheater

/< 4. Steam trap

Question ID : 8161614150
Status : Answered
Chosen Option : 2

Q.3  Ahydraulic press has a ram of 20 em diameter and a plunger of 3 cm diameter. It is used for lifting a weight of 30 kN.
Find the force required at the plunger.

Ans  of 1. 675N
X 2 1075N
K3 975N
X4 875N

Question ID : 8161614176
Status : Answered
Chosen Option : 1

Q.4 Number of links (1) and the number of joints (I) for a single degree of freedom kinematic chain. with only lower pair
joints, is related by the expression:

Ans 31 T=251 2
v2J=151-2
X3 J=15k-1
X4 J=25]-1

Question ID : 8161614106
Status : Answered
Chosen Option : 2

Q5 gStream line in a flow is:

Ans x1.

locus of fluid particles that have earlier passed through a given point
/< 2. actual path followed by a fluid particle
/< 3. tangent to the acceleration vector at any instant in time

+ 4 tangent to the velocity vector at any instant in time

Question ID : 8161614183
Status : Answered
Chosen Option : 4
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Q.6 Inalaminar flow of a liquid down an inclined plane, the surface velocity is found to be 60 cm/s. The average velocity of
the flow in em/s is:

Ans X115
X 2 30
X 3120
v 4 40

Question ID : 8161614171
Status : Answered
Chosen Option : 2

Q7 YWhich of the following is an example of a thixotropic substance?

Ans o 1. Printer ink
/< 2. Gypsum
#< 3. Quick sand
< 4 Water

Question ID : 8161614169
Status : Answered
Chosen Option : 1

Q.8 What is the number of buckets on the runner of a Pelton turbine if the jet ratio is 127
Ans x 1. 13

<2 20

X3 6

v 21

Question ID : 8161614195
Status : Answered
Chosen Option : 4

Q9 wWhat is a locomotive boiler?

Ans X 1. Self-cooled boiler
#< 2. Horizontal water tube boiler
#< 3. Vertical water tube boiler
' 4 Fire tube boiler

Question ID : 8161614143
Status : Answered
Chosen Option : 4
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Q.10 The efficiency of a Carnot engine is given by 0.80. If the cycle direction is reversed, then what will be the COP for the

Carnot refrigerator?

Ans X' 1.0.30
X 2 033
X 3 0.27
v 4 0.25

Question ID : 8161614122
Status : Answered
Chosen Option : 4

Q.11 For a floating body to be in a stable equilibrium. where G is the centre of gravity. B is the center of buoyancy. and M is

the metacentre, which of the following statements is true?

Ans X 1. M and B coincide
V' 2 Mis above G
#< 3. M and G coincide
< 4 Mis below G

Question ID : 8161614192
Status : Answered
Chosen Option : 2

Q12 WWhat is the typical composition of the castings emploved in oil-fired boilers?

Ans  of 1. 509 Niand 50% Cr
< 2. 90% Ni and 10% Cr
& 3. 70% Ni and 30% Cr
< 4. 80% Ni and 20% Cr

Question ID : 8161614148
Status : Not Answered
Chosen Option : --

Q.13 The deflection at the center of a fixed-fixed beam carrying a point load at the center is related to the deflection of simply

supported beam by a factor of:
Ans X 1. 0.50
X2 1
v 3 0.25
X 4075

Question ID : 8161614112
Status : Answered
Chosen Option : 3
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Q.14 If Poisson’s ratio of an elastic material is 0.4, then what will be the ratio of modulus of rigidity to Young's modulus?

Ans  of 1.0.36
X 2 0.16
< 3.0.86
X 4.0.06

Question ID : 8161614113
Status : Answered
Chosen Option : 1

Q15 Diffusor increases the pressure of a fluid at the expense of its:

Ans o 1. kinetic energy

/< 2. rotational energy

/< 3. impact energy
/< 4. potential energy

Question ID : 8161614120
Status : Answered
Chosen Option : 1

Q16 Tntercooling and reheating is used to increase the efficiency of the:

Ans X 1. Ericsson cyele
/< 2. Oftto cycle
/< 3. dual cycle
+ 4 Brayton cycle

Question ID : 8161614126
Status : Answered
Chosen Option : 4

Q.17 The internal and external diameters of the impeller of a centrifugal pump are 200 mm and 400 mm, respectively. The

pump is running at 1200 rpm. Find the velocity of flow if the vane angle at inlet is 20°.

Given tan20° = 0,363

Ans X 1. 7.42 mis
v 2 457 m/s
X 3 3.34m's
X 4 6.67m's

Question ID : 8161614200
Status : Not Answered
Chosen Option : --
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Q18 The function of piston rings in internal combustion engines is also to:
Ans o 1. dissipate heat to cylinder walls

/< 2. cool the cylinder

/%< 3. increase the speed

/< 4. prevent piston from corrosion

Question ID : 8161614135
Status : Answered
Chosen Option : 2

Q19 1 spur gears, the circle on which the involute is generated is called:
Ans o 1. base circle

/< 2. pitch circle

/< 3. clearance angle

< 4 addendum circle

Question ID : 8161614107
Status : Answered
Chosen Option : 1

Q.20 The equation to determine number of buckets (vanes) in terms of runner diameter (D) and jet diameter (d)

of the Pelton turbine is:

Ans D

K1 Z=|—|+15
d
3D

<2 z=(—)+15
d
D

i z=(=—]+15
2d

X4 Z P30
4 ===
2d

Question ID : 8161614197
Status : Answered
Chosen Option : 3
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Q.21 If a stream function satisfies the Laplace equation, it is a possible case of fluid flow which is
Ans X 1. Rotational

< 2 Turbulent

' 3. Irrotational

/< 4. Unsteady

Question ID : 8161614181
Status : Answered
Chosen Option : 3

Q.22 ywhich of the following is NOT an assumption of Bernoulli’s equation?

Ans o 1. Flow is compressible
/< 2. Flow is steady

/< 3. Flow is irrotational
/< 4 Flow is ideal

Question ID : 8161614193
Status : Answered
Chosen Option : 1

Q23 Energy of a system is defined as:

Ans 1. path function and intensive property
/< 2. path function and extensive property
/< 3. point function and intensive property

+ 4 point function and extensive property

Question ID : 8161614118
Status : Answered
Chosen Option : 2

Q.24 Above critical pressure ratio, addition of regenerator in Brayton cycle causes one of the following:

Ans x1_

lower compressor discharge temperature than turbine exhaust gas temperature
/< 2. gain in cycle efficiency
/< 3. no effect in cycle efficiency

o 4+ loss in cycle efficiency

Question ID : 8161614155
Status : Answered
Chosen Option : 3
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Q.25 Which of the following factors are improved in a gas turbine in the presence of a heat exchanger and reheater?

Ans 1. Only the thermal efficiency
/< 2. Neither the thermal efficiency nor specific power output
/< 3. Only the specific power output
+ 4 Both the thermal efficiency and thermal power output

Question ID : 8161614153
Status : Answered
Chosen Option : 4

Q.26 Select the option that correctly matches the items given in List I to those given in List II.
ListI:
A. Force balance
B. Barometer
C. Bourdon gauge
D. U-tube differential manometer
List II:
1. Differential pressure
2. Atmospheric pressure
3. Calibration of pressure instruments
4. Gauge pressure

Ans 1. A-1,B-2, C-4, D-3
X 2. A-4,B-2, C-3,D-1
X 3. A-3,B-4.C-2,D-1
4 A-3,B-2, C-4,D-1

Question ID : 8161614189
Status : Answered
Chosen Option : 1

Q27 pelton wheel is a/an:

Ans 1. radial flow impulse turbine

A 2. inward flow radial turbine
/< 3. outward flow radial turbine
+ 4 tangential flow impulse turbine

Question ID : 8161614194
Status : Answered
Chosen Option : 4
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Q28 What does a Lagrangian description of fluid flow provide?
Ans % 1. Temperature at a given point at every time instant
/< 2. Energy of a fluid particle at every time instant

+ 3. Position of a fluid particle at every time instant

/< 4. Pressure at a given point at every time instant

Question ID : 8161614185
Status : Answered
Chosen Option : 3

Q.29 Which of the following is true for performance parameters of vapour power cycles?
Ans X 1. Work ratio = 2 + Back work ratio

#< 2. Work ratio = Back work ratio

#< 3. Work ratio = 1 + Back work ratio

' 4 Work ratio = 1 — Back work ratio

Question ID : 8161614138
Status : Answered
Chosen Option : 3

Q.30 What type of steel is generally used for connecting rods, crank shafts and axle components?
Ans K 1. Mild steel

/X 2. Low carbon steel
/< 3. High carbon steel

' 4 Medium carbon steel

Question ID : 8161614201
Status : Answered
Chosen Option : 4

Q.31 The mechanism which serves the purpose of dividing the periphery of a circular piece into a number of equal parts is
known as:

Ans X 1. oldham
/< 2. quick return

+ 3. indexing
/< 4 slider crank

Question ID : 8161614108
Status : Answered
Chosen Option : 3
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Q.32 1In a refrigeration system, why are expansion devices located closer to the evaporator?
Ans 1. To avoid the flow of the refrigerant

/< 2. To ease the flow of the refrigerant

/< 3. To maximise the heat gain

« 4 To minimise the heat gain

Question ID : 8161614157
Status : Answered
Chosen Option : 4

Q.33 Which of the following options is used for mixing air with fuel supply?
Ans o 1. Booster fan

#< 2. Fusible plug

/< 3. Chimney

< 4 Blowdown valve

Question ID : 8161614151
Status : Answered
Chosen Option : 4

Q34 Vacuum pressure is:

Ans Atmospheric pressure

F.

Absolute pressure
« 2. Atmospheric pressure — Absolute pressure
#< 3. Atmospheric pressure x Absolute pressure

/< 4. Atmospheric pressure +~ Absolute pressure

Question ID : 8161614177
Status : Answered
Chosen Option : 2

Q.35 The by-pass factor of a single cooling coil in an air-conditioner is 0.8. What will be the by-pass factor if three such
cooling coils, with the same apparatus dew point. are kept one behind the other?

Ans X' 1. 0.102
< 2 0.343
V3 0512
< 40226

Question ID : 8161614164
Status : Answered
Chosen Option : 3
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Q36 Dypamic viscosity increases with the rate of shear increase for:
Ans 1. rheopectic fluid

75 2. pseudoplastic fluid

7< 3. thixotropic fluid

v 4 dilatant fluid

Question ID : 8161614170
Status : Answered
Chosen Option : 4

Q.37 Analloy of nickel and iron that is easily magnetised and demagnetised and can also be used in electrical equipment is:

Ans 3 1. supermalloy

+ 2. permalloy
# 3. alnico
#< 4. cunife

Question ID : 8161614203
Status : Answered
Chosen Option : 2

Q.38 If the thermal efficiencies of mercury and steam cycles are respectively 17; and 17, . then the overall efficiency of a
binary cycle can be expressed as:

Ans X 1 my+n + M
K211
viantn —mn
Kantn,

Question ID : 8161614166
Status : Answered
Chosen Option : 3

Q-39 What will be the effect if by mistake diesel fuel is supplied in a petrol engine?
Ans o 1. Engine will not run
/< 2. Engine will run at lower rpm

< 3. Engine will run at reduced efficiency
x4

Engine will give dense smoke and will consume more fuel as well as lubricating oil

Question ID : 8161614131
Status : Answered
Chosen Option : 1
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Q49 Which of the following statements is true?
Ans X 1. Rankine efficiency is equal to Carnot efficiency.

+ 2. Rankine efficiency is lower than Carnot efficiency.
&< 3.

Rankine efficiency cannot be compared with Carnot efficiency.

/< 4. Rankine efficiency is higher than Carnot efficiency.

Question ID : 8161614137
Status : Answered
Chosen Option : 2

Q.41 Which of the following boiler mountings protect the boiler against damage due to overheating due to low water level?

Ans X 1. Blow off cock
+ 2. Fusible plug
/< 3. Stop valve
#< 4 Feed check valve

Question ID : 8161614145
Status : Answered
Chosen Option : 2

Q42 Tool steel contains carbon in the range of:

Ans X' 1. 0.3t00.6
V2 05t015
X3 011003
X 4021009

Question ID : 8161614204
Status : Answered
Chosen Option : 2

Q.43 If the by- pass factor is 0.30, what will be the efficiency of cooling coil or the contact factor?
Ans o 1. 0.70

X2 0.15

X 3. 0.66

< 4.0.30

Question ID : 8161614160
Status : Answered
Chosen Option : 1
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Q.44 What is the absolute pressure at a point 3 m below the free surface of a liquid having a density of 1.53%10° kg/m’ if the
atmospheric pressure is equivalent to 750 mm of mercury? The specific gravity of mercury is 13.6 and density of water

is 1000 kg/m>.
Ans o1 145000 N/m?
22 45000 N/m?
X 3. 245090 N/m?
X 4345090 N/m?

Question ID : 8161614178
Status : Not Answered
Chosen Option : --

Q45 Chromium in stainless steel provides:

Ans o 1. corrosion resistance
< 2. less duetility

/< 3. low toughness
/< 4. hardenability

Question ID : 8161614202
Status : Answered
Chosen Option : 1

Q.46 Which is of the following is determined by deploying multiple gauge glasses in boilers?
Ans 1. Velocity

7 2. Pressure

< 3. Flow

o 4 Level

Question ID : 8161614140
Status : Answered
Chosen Option : 2
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Q.47 Select the option that correctly matches the items given in List I to those given in List IT.
ListI:
A. Rotational flow
B. Irrotational flow
C. Singularities
D. Stream line spacing
List II:
1. Velocity is zero or infinite
2. Inversely proportional to velocity
3. Vorticity is zero
4. Vorticity exists

Ans  of 1. A-4,B-3,C-1,D-2
X 2. A-3. B4, C-1,D-2
X3 A3,B-4,C2,D1
X 4 A-4,B-3,C-2,D-1

Question ID : 8161614184
Status : Answered
Chosen Option : 1

Q.48 The thermal efficiency of an air standard Brayton cycle in terms of pressure ratio (rp) and v (Cp/Cv) is:
Ans 1

K l= %
()

Question ID : 8161614152
Status : Answered
Chosen Option : 3

Q.49 An engine at full load delivers 200 kW brake power. It requires 25 kKW to rotate it without fuel at the same speed. The
mechanical efficiency at half load is:

Ans X' 1. 50%
X 2 66.7%
v 3 80%
< 4259

Question ID : 8161614133
Status : Answered
Chosen Option : 3
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Q.50 Which of the following statement is INCORRECT with respect to a reheat cycle?

Ans  of 1. Steam rate increases

/< 2. Work ratio increases
/< 3. Turbine work increases

/< 4 Net work done increases

Question ID : 8161614167
Status : Answered
Chosen Option : 1

Q51 Supercharging in diesel engines is done primarily to:
Ans O 1. reduce exhaust losses

« 2. increase specific output

/< 3. improve thermal efficiency

/< 4. improve mechanical efficiency

Question ID : 8161614130
Status : Answered
Chosen Option : 3

Q52 18 -4 -1 high speed steel consists of:
Ans 1. 18% W, 4% V, 1% Cr

X 2 18%Cr, 4%V, 1% Cr

W3 18% W, 4%Cr, 1%V

< 4. 18% W, 4% Ni, 1% Cr

Question ID : 8161614205
Status : Answered
Chosen Option : 3

Q.53 Aheat engine is supplied with 450 kJ/s of heat at a constant fixed temperature of 227°C. The heat is rejected at 27°C.
What will be the amount of heat rejected if the cycle is reversible?

Ans X 1. 320 kW
X 2 330 kW
X 3300 kw
W 4 270 kW

Question ID : 8161614124
Status : Not Answered
Chosen Option : -

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Q.54

For a forced vortex flow in an open tank, which of the following statements is correct?

Ans x 1.
Fall of liquid level at the centre = 0.98 * rise of liquid level at the ends
V2
Fall of liquid level at the centre = rise of liquid level at the ends
X s
Fall of liquid level at the centre = 0.5 x rise of liquid level at the ends
X a4
Fall of liquid level at the centre = 0.95 x rise of liquid level at the ends
Question ID : 8161614182
Status : Not Answered
Chosen Option : --
Q.55 wWhat will be the magnitude of the shear stress on the principal plane?
Ans X 1. Minimum
< 2 Maximum
v 3. Zero
/< 4. Negative
Question ID : 8161614111
Status : Answered
Chosen Option : 3
Q.56 Consider the turbulent flow of a fluid through a circular pipe. Which of the following statements hold(s) true?
1. The fluid is unmixed
I1. The fluid is well mixed
III. Re < 4000
IV. Re > 4000
Ans

7% 1. Only statements I and III
« 2. Only statements II and IV
/< 3. Only statement IV

/< 4. Only statements I and IV

Question ID : 8161614186
Status : Answered
Chosen Option : 2
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Q57 1n a refrigeration system, why is receiver installed in the liquid line?
Ans o 1. To collect the refrigerant

/< 2. To wet the refrigerant

/< 3. To dry the refrigerant

/< 4. To heat the refrigerant

Question ID : 8161614158
Status : Answered
Chosen Option : 1

Q.58 An adiabatic heat exchanger is used to heat cold water at 15°C entering at the rate of 10kg/sec by hot air at 90°C
entering at the rate of 10 kg/sec. If the exit temperature of hot air is 20°C. then find the exit temperature of cold water.
CP for air =1.008 KJ'Kg, C]J for water = 4.18 KJ/Kg:

Ans  of 1 3].88°C
X 2. 89.12°C
X 3. 26.54°C
X 4. 58.65°C

Question ID : 8161614121
Status : Not Answered
Chosen Option : --

Q.59 The right limb of a simple U-tube manometer containing mercury is open to the atmosphere. The left limb is connected
to a pipe in which fluid of specific gravity 0.9 is flowing. The centre of the pipe is 12 cm below the level of mercury in
the right limb. Find the pressure of fluid in the pipe if the difference of mercury level in the two limbs is 20 cm.

Ans

v 12 50 Njem?
X 2. 3,65 N/em?
X 3. 6.22 Niem?
X 4 478 Niem?

Question ID : 8161614179
Status : Not Answered
Chosen Option : --

Q60 1 a diesel engine, where does the mixing of fuel and air occur?
Ans 3 1. Fuel pump
/< 2. Injector

#< 3. Inlet manifold
+ 4 Engine cylinder

Question ID : 8161614132
Status : Answered
Chosen Option : 4
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Q61 The function of a capillary tube in the refrigeration cvele is to:

Ans X 1. reduce component weight
v 2. control flow
/< 3. improve COP

/< 4. produce effect of cooling

Question ID : 8161614162
Status : Answered
Chosen Option : 2

Q.62 What is the minimum valley angle of an ash hopper used in a dry electrostatic precipitator?
Ans J 1. 550

X 2 45°

X 3 35°

X 4 250

Question ID : 8161614146
Status : Not Answered
Chosen Option : --

Q63 WWhat is the work done for a constant volume process?

Ans x1_ 1
X2 -]
X305
v

Question ID : 8161614123
Status : Answered
Chosen Option : 4

Q64 YWhat is the maximum moisture content in a steam turbine exhaust?
Ans ! 1. 15%

X 2. 25%

< 3. 20%

X 4 30%

Question ID : 8161614168
Status : Answered
Chosen Option : 1
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Q.65 What is the purpose of using the meter rod and economiser device in some carburettors?
Ans X 1. Acceleration
< 2. Idling

/< 3. Cold starting

' 4 Power enrichment

Question ID : 8161614129
Status : Answered
Chosen Option : 3

Q.66 The enthalpies at the beginning of compression, at the end of compression and at end of condensation are 180 kT’kg.
200 k¥kg and 90 kI'kg respectively. Determine COP of the vapour compression refrigeration system.

Ans  of 1. 45
K25
X3 6
K455

Question ID : 8161614159
Status : Answered
Chosen Option : 1

Q67 Which of the following is NOT a wet sump lubrication system?
Ans X 1. Splash system

/< 2. Pressure feed system

7< 3. Splash and pressure system

W 4 Velocity feed system

Question ID : 8161614136
Status : Answered
Chosen Option : 1

Q.68 The specific volume of superheated steam at 1600°C, if the quality is 80%, Vf=0.0011 1n3.‘Kg and Vg =0.3071 m3ng is:

Ans  of 1. 0.25
<2 1.09
K3 1.25
X4l

Question ID : 8161614117
Status : Answered
Chosen Option : 1
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Q.69 A centrifugal pump has the following specifications: 0.15 m diameter, 100 m long pipe with velocity of water 2.26 m/s,
and friction factor 0.015. What is the frictional head loss?

Ans X 1. 15.1
X 2 13.8
v 104
X4 126

Question ID : 8161614199
Status : Not Answered
Chosen Option : --

Q.70 A Carnot engine receiving heat at 400 K has an efficiency of 50%. What is the COP of a Carnot refrigerator working
between the same temperature limits?

Ans x1. 3
v
<3 4
K42

Question ID : 8161614125
Status : Answered
Chosen Option : 2

Q71 What is the range of length of a Cornish boiler?

Ans  of 1 4t08m
A2 1to2m
X3 10to15m
A4 15t050m

Question ID : 8161614147
Status : Answered
Chosen Option : 1

Q.72 Which of the following statements is/are correct with respect to a gas turbine power plant?
Statements:
P: Smaller in size compared to a steam power plant for the same power output
Q: Starts slowly compared to a steam power plant
R: Works on the principle of the Rankine cycle
S: Good compatibility with solid fuel
Ans X 1. Only statement S is correct.
#< 2. Only statements P and Q are correct.
v &) Only statement P is correct.

/< 4. All statements P, Q, R and S are correct.

Question ID : 8161614156
Status : Answered
Chosen Option : 2
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Q.73 The ratio of clearance volume to the displacement volume of an R12 reciprocating compressor is 0.06. Specific volume
P Pl 2 P P

at inlet and outlet compressor are 0.03 and 0.01 m? kg, respectively. Volumetric efficiency of the compressor is:

Ans x 1. 9594
X 2 82%
v 3 88%
X 4. 76.4%

Question ID : 8161614165

Status : Not Answered

Chosen Option : --

Q.74 Select the option that correctly matches the items given in List I to those given in List II.
ListI:
A. Central deflection in a fixed beam subject to uniformly distributed load.
B. Central deflection in a simply supported beam subject to uniformly distributed load.
C. Central deflection in a simply supported beam subject to concentrated load at midspan.
D. Deflection at free end of a cantilever subject to concentrated load at free end.
List IT:
wl?

1.—
3 EI
wl®

2'48 EI
S5wl®

3.
384 EI
wl®

"384EI

Ans X' 1. A-3,B-4,C-1,D-2
X 2 A-4,B-3,C-1,D-2
X 3. A-3,B-4,C-2,D-1
v+ A-4,B-3,C-2,D-1

Question ID : 8161614114

Status : Answered

Chosen Option : 4

Q.75 For the same compression ratio and heat rejection, which of the following is true?
Ans X 1. (ng,) Diesel < (1y,) Dual < (1) Otto

W 2. (ny,) Otto > (14,) Dual = (n,) Diesel

< 3. (1) Otto < (14,) Dual < (1y,) Diesel

< 4. (ng,) Diesel > (ng,) Dual > (n4,) Otto

Question ID : 8161614127

Status : Answered

Chosen Option : 1

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Q.76 ANewtonian fluid fills the clearance between a shaft and a sleeve. When a force of 0.9 kN is applied to the shaft
parallel to the sleeve, the shaft attains a speed of 1.25 ecm/s. What will be the speed of the shaft if a force of 3 kN is

applied?

Ans  of 1. 4.16 co/s
X 2526 co's
X 3. 519 cm/s
X 4 6.32 co's

Question ID : 8161614172
Status : Answered
Chosen Option : 1

Q.77 The platform of the boiler where burning of fuel takes place is known as:

Ans X 1. lagging
/< 2. setting
X 3 shell
4. grate

Question ID : 8161614141
Status : Answered
Chosen Option : 4

Q.78 The gas refrigeration cyele is preferred in aircraft refrigeration because of:

Ans 1. high weight per ton

X 2. high COP

/< 3. low cost

W 4 low weight per ton

Question ID : 8161614161
Status : Answered
Chosen Option : 4

Q79 Fusible plugs in boilers are made of:

Ans X 1. cast iron

A 2. titanium
< 3. steel
v 4 brass

Question ID : 8161614149
Status : Answered
Chosen Option : 4
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Q80 The overall efficiency of a centrifugal pump is:
Ans 3 1. Product of manometric and hydraulic efficiencies

v 2. Product of manometric and mechanical efficiencies
/< 3. Ratio of manomertric efficiency to mechanical efficiency

/< 4. Ratio of mechanical efficiency to manometric efficiency

Question ID : 8161614198
Status : Answered
Chosen Option : 1

Q.81 Name the point about which a body starts oscillating when a body. floating in a liquid. is tilted even by a small angle.

Ans  of 1. Metacentre
/< 2. Center of gravity

/< 3. Center of buovancy
#< 4 Shear center

Question ID : 8161614191
Status : Answered
Chosen Option : 1

Q.82 Anoil of specific gravity 0.9 is contained in a vessel. At a point the height of oil is 40 m. Find the corresponding height
of water at that point.

Ans  of 1 36m
K2 52m
X 3 46m
K4 42m

Question ID : 8161614173
Status : Answered
Chosen Option : 1

Q83 The range of coefficient of discharge value of a Venturi meter is:

Ans X1 0.55t00.75
<2 0.6100.8
<3 0.25t00.35
v 4 0.95t00.99

Question ID : 8161614188
Status : Answered
Chosen Option : 4
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Q.84 Astone of mass ‘m’ at the end of a string of length *I" is whirled in a vertical circle at a constant speed. What positon of
the stone shall result in the maximum tension in the string?

Ans X 1. Quarter-way down from the top
/< 2. Half-way down from the top

« 3. At the bottom of the circle
/< 4. At the top-way of the circle

Question ID : 8161614110
Status : Not Answered
Chosen Option : --

Q.85 The pressure intensity at a point in a fluid is given by 3.92 N/em?. Find the corresponding height of the fluid. when the
fluid is oil of specific gravity 0.9.

Ans o 1 444 m
X277Tm
# 3 6.66m
X4 555m

Question ID : 8161614174
Status : Answered
Chosen Option : 1

Q86 The type of flow for which the density is constant for a fluid flow is:
Ans X 1. uniform

/< 2. non-uniform

+ 3 incompressible

/< 4. compressible

Question ID : 8161614180
Status : Answered
Chosen Option : 3

Q87 Bull’s eye refers to a type of:
Ans X 1. flow measurement gauge
« 2. bi-colour gauge

/< 3. manometric gauge
< 4. pressure gauge

Question ID : 8161614142
Status : Answered
Chosen Option : 1
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Q8 yWhat is a Babcock and Wilcox boiler?
Ans o 1. Water tube boiler

/< 2. Horizontal fire tube boiler

#< 3. Transverse fire tube boiler

< 4 Vertical fire tube boiler

Question ID : 8161614144
Status : Answered
Chosen Option : 1

Q.89 If any substance is cooled below its triple point pressure, vapour become solid and the process is known as:
Ans 1. vaporisation

/< 2. saturation

X 3. sublimation

« 4 ablimation

Question ID : 8161614116
Status : Answered
Chosen Option : 4

Q.90 The pressure ratio of a gas power plant cycle corresponding to maximum work output for the given temperature limits
of Tmin and Tmax will be:

. (Dm0

max

Ans
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Question ID : 8161614154
Status : Answered
Chosen Option : 3
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Q.91 Fora fully-developed flow of water in a pipe having diameter 10 cm, velocity 0.2 m/s and kinematic viscosity 103

m?/s, what is the value of the Darcy friction factor?
Ans  of 1. 0.032
X2 64
X 3064
X 4. 0.064

Question ID : 8161614187
Status : Answered
Chosen Option : 1

Q.92 Inanon-flow process, work transfer from the system is 30 kJ and heat received by the system is 90 kJ. Determine the
change in the internal energy.

Ans X 1. _80KkTJ
v 2 60 kT
X3 80KkI
K4 —60 kI

Question ID : 8161614119
Status : Answered
Chosen Option : 2

Q.93 The atmospheric air at DBT is 20°C. It enters a heating coil which is maintained 50°C. If the air leaves the heating coil
at 35°C, then what will be the efficiency of the coil?

Ans 1. 0.35
V205
<306
<4022

Question ID : 8161614163
Status : Answered
Chosen Option : 2

Q.94 Gibbs Phase rule defines the relationship between degrees of freedom (F) of a system, number of phases (P) and the
number of components (C). What is the equation?

Ans X 1. F—_P=C
X2F+P=C
v3iF+P=C+2
X4 F+P=C+1

Question ID : 8161614115
Status : Answered
Chosen Option : 3
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Q.95 An open tank contains water up to a depth of 2 m and above it an oil of specific gravity 0.9 for a depth of 1 m. Find the
pressure intensity at the interface of the two liquids.

Ans X1 7820 N/m?
< 2. 6829 N/m?
v 3 8820 N/m?

X 4 9829 N/m?

Question ID : 8161614175
Status : Not Answered
Chosen Option : --

Q9 The flow ratio for a Francis turbine varies from:
Ans X' 1. 0.01to 0.10

X< 2 0.10t00.14

X 3.0.30t00.45

v 4 0.15100.30

Question ID : 8161614196
Status : Answered
Chosen Option : 3

Q.97 The power developed by a turbine in a certain steam power plant is 1206 kW. The heat supplied to boiler is 3500 kI'Kg.
The heat rejected by steam to cooling water is 2900 kI'Kg. The feed pump work required to condensate back into the
boiler is 6 kW, What will be mass flow rate of cycle?

Ans 1. 0.00622 kg/s
v 2 2kg/s
X 3 6.22kg/s
2 4. 0.002 kg/s

Question ID : 8161614139
Status : Not Answered
Chosen Option : --

Q.98 The ability of oil to resist oxidation that would vield acids, lacquers and sludge is called:
Ans X 1. oiliness

/< 2. detergency

« 3. stability
/< 4. foaming

Question ID : 8161614134
Status : Answered
Chosen Option : 2

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




Q.99 The pitch value in the specification Tr 40 x 14 (P7) of multiple start trapezoidal thread is:

Ans X 1. 2 mm
X 2 14 mm
3 7mm
& 4 40 mm

Question ID : 8161614109
Status : Answered
Chosen Option : 3

Q.100 Select the option that correctly matches the items given in List I (details of the process of the cycle) to those given in

List IT (name of the cycle).

ListI:

A. Two isothermal and two adiabatic

B. Two isothermal and two constant volumes

C. Two adiabatic and two constant volumes
D. Two adiabatic and two constant pressures

List IT:

1. Otto cycle

2. Joule cycle

3. Carnot cycle
4. Stirling cycle

Ans o 1. A-4,B-3,C-2,D-1
X 2. A4,B-3,C-1,D-2
v 3 A-3,B-4,C-1,D-2
X 4. A-3,B-4,C-2,D-1

Question ID : 8161614128
Status : Answered
Chosen Option : 3
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